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Solving Sequence

411-5->12>10>6—>9—>1—>8—>3—>2— 7> (C2,C
C4 Ci11 Ci0 C Cg Ci2 Cg (€3 C1 Ct

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

= a4+ fu+1)

* 1 irreducible components of dim¢ = 0, with total 74 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=@W?*4+u™+---+u+1)

(i) Arc colorings

Qg

ayp =

ag =

asz =

ag =

az

wd +4u” +3u® —2ud +u
u? +5u” + Tub +2ud +u

w3+ Tultt + 170 + 16u” + 6u® + 5ud + u

—ull —6u® — 1207 — 8ud — ud — 2u >

—u?t —13u?2 4 =20+ 1
u?0 4+ 14u?* + - 4+ 10u* + u?

)

—u®® — 32057 + - 4280 + u3)

ubt + 330 + U

—udt —17u? + -+ 20 +u

(—u31 —16u? + .- —4u® — 2u>

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ +4u™ + -+ +4u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w435+ —ut 1
C2,Ce Wt —uP w41
3 u™ U 4 — 879u + 481
€4, %5, €10 ut B w1
C11
cr u™ —3u™ ... —325u+ 175
Cs u™ 4+ 9u™ -+ 169u + 13
Co, C12 W™ =130 4+ - — 2717w + 283




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

‘1 Y+ 9y 4 By + 1

C2,Cs y74—35y73+--~+y+1
c3 y™ —19y™ + - — 9331555y + 231361

C4,C5,C10 y74+81y73++y+1
C11
cq y™ +17y™ + - + 1185525y + 30625
€] y™ 4+ 5y" + ... 4 4433y + 169
74 73
cy, C12 y'" + 45y 4 - - - 4+ 403241y 4+ 80089




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—0.581679 + 0.5886871

1.14751 — 12.214901

2.00000 + 10.624611

—0.581679 — 0.5886871

1.14751 + 12.214901

2.00000 — 10.624611

SRS S

0.579078 + 0.5799681

3.39034 + 7.171381

4.72098 — 6.803741

~
IS

0.579078 — 0.5799681

3.39034 — 7.171381

4.72098 + 6.803741

—0.558960 + 0.5842121

—1.22103 — 4.599991

—1.85198 + 5.420571

—0.558960 — 0.5842121

1.22103 + 4.599991

—1.85198 — 5.420571

0.580042 + 0.5521861

4.60737 4 4.920921

6.44482 — 6.982061

0.580042 — 0.5521861

4.60737 — 4.920921

6.44482 + 6.982061

—0.581910 + 0.5332811

3.51551 — 0.097131

4.79421 4 0.955511

—0.581910 — 0.5332811

3.51551 4 0.097131

4.79421 — 0.955511

0.160664 + 0.7645471

3.59023 + 7.241831

—4.81965 — 8.014971

IS RS ESE R B -~ E~

0.160664 — 0.7645471

—3.59023 — 7.241831

—4.81965 + 8.014971

~
IS

0.081400 + 0.7609271

—5.25802 — 0.190861

—8.37896 — 0.605691

0.081400 — 0.7609271

5.25802 + 0.19086.1

—8.37896 + 0.605691

0.475714 + 0.5834851

—2.85675 4 4.951401

—3.45849 — 7.851681

0.475714 — 0.5834851

—2.85675 — 4.951401

—3.45849 + 7.851681

—0.594230 4 0.4439221

3.77889 — 3.920961

5.61393 + 5.938911

—0.594230 — 0.4439221

3.77889 + 3.92096.1

5.61393 — 5.938911

—0.149812 +4- 0.7247871

—1.30291 — 2.536241

—1.75249 + 4.490361

—0.149812 — 0.7247871

1.30291 + 2.536241

—1.75249 — 4.490361

IS RS ESE R B A~

0.595573 + 0.4221121

4.98992 — 0.904351

7.85161 4 0.133711

~
IS

0.595573 — 0.4221121

4.98992 + 0.904351

7.85161 — 0.133711

—0.611496 4 0.3764251

1.77025 + 8.149901

3.28357 — 4.516931

= —0.611496 — 0.3764251

1.77025 — 8.149901

3.28357 + 4.516931

0.603907 + 0.3868441

3.95690 — 3.134861

6.57615 + 0.472381

0.603907 — 0.3868441

3.95690 + 3.134861

6.57615 — 0.472381

0.384733 + 0.5891811

—2.15217 — 2.347761

—2.61549 — 0.507121

0.384733 — 0.5891811

—2.15217 + 2.347761

—2.61549 + 0.507121

—0.457206 4 0.5157161

0.32851 — 1.593211

1.85928 + 4.312001

IS RS ESE R B A~

—0.457206 — 0.5157161

0.32851 + 1.593211

1.85928 — 4.312001




Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = —0.576050 + 0.3700371

—0.597920 + 0.7023871

0.117490 + 1.0179711

u = —0.576050 — 0.3700371

—0.597920 — 0.7023871

0.117490 — 1.0179711

u

—0.191536 + 0.5723301

—0.30101 — 1.447621

—0.21354 + 6.413591

S
Il

—0.191536 — 0.5723301

—0.30101 + 1.447621

—0.21354 — 6.413591

u = —0.13095 + 1.445411 —4.02653 + 5.587031 0
u = —0.13095 — 1.445411 —4.02653 — 5.587031 0
u = 0.13429 + 1.456751 —1.94463 — 0.595471 0
uw= 0.13429 — 1.45675] —1.94463 + 0.595471 0
u = —0.10830 + 1.473651 —6.49129 — 1.548261 0
u = —0.10830 — 1.473651 —6.49129 + 1.548261 0
U 0.14890 + 1.478401 —1.17433 + 1.680631 0
u = 0.14890 — 1.478401 —1.17433 — 1.680631 0

u= 0442216 + 0.2505221

—2.00759 — 1.719911

—0.002985 + 0.4933021

uw=0.442216 — 0.2505221

—2.00759 + 1.719911

—0.002985 — 0.4933021

u = —0.15679 + 1.488461

—2.52069 — 6.551861

0

u = —0.15679 — 1.488461

—2.52069 + 6.551861

0

uw= 0.465321 + 0.114222]

—0.77170 + 5.144121

3.35203 — 6.100911

u= 0.465321 — 0.114222]

—0.77170 — 5.144121

3.35203 4 6.100911

u = —0.16980 + 1.535081 —3.33883 — 2.797851 0
u = —0.16980 — 1.535081 —3.33883 + 2.797851 0
u = —0.02101 + 1.547961 —7.42999 — 2.037231 0
u = —0.02101 — 1.547961 —7.42999 + 2.037231 0
u = —0.13143 + 1.546091 —6.62453 — 3.701921 0
u = —0.13143 — 1.546091 —6.62453 + 3.701921 0
u = 0.17209 + 1.543451 —2.35401 + 7.640031 0
uw= 0.17209 — 1.543451 —2.35401 — 7.640031 0
u= 0.11928 + 1.557081 —9.35786 — 0.472271 0
u= 0.11928 — 1.557081 —9.35786 + 0.472271 0
u= 0.17433 + 1.555201 —3.72276 + 9.916521 0
u= 0.17433 — 1.555201 —3.72276 — 9.916521 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u=0.13939 + 1.559511 —10.05520 + 7.192211 0
u= 0.13939 — 1.559511 —10.05520 — 7.192211 0
u = —0.16695 + 1.557951 —8.37394 — 7.245101 0
u = —0.16695 — 1.557951 —8.37394 4 7.245101 0
u = —0.17594 + 1.558581 —6.0096 — 14.98211 0
u = —0.17594 — 1.558581 —6.0096 + 14.98211 0

u = —0.412346 4 0.0733221

1.227240 — 0.6386911

7.97254 + 1.541431

u = —0.412346 — 0.0733221

1.227240 + 0.6386911

7.97254 — 1.541431

u = —0.02854 + 1.584751 —9.12688 — 3.112711 0
u = —0.02854 — 1.584751 —9.12688 + 3.112711 0
u= 0.01619 + 1.591771 —13.22470 4- 0.128971 0
u= 0.01619 — 1.591771 —13.22470 — 0.128971 0
u= 0.03179 + 1.592771 —11.57340 4 7.873791 0
u= 0.03179 — 1.592771 —11.57340 — 7.873791 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 w4+ 350+ —ut 1
C2,Ce WP —u 1
€3 ™ w4 — 879u + 481
C4,C5,C10 u74—u73+--~—u+1
‘1
¢ u™ = 3u™ 4 — 325u 4 175
cs u™ +9u™ 4 -+ 169u + 13
Co, C12 u™ —13u™ - — 2717u + 283




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y 9y 4 5y 41
C2, C y =35y byl
c3 y™ —19y™ + ... — 9331555y + 231361
C4,C5,C10 y74+81y73++y+1
‘1
c 74 73
7 y' "t + 17y 4 - - + 1185525y + 30625
Cs Y™+ 5y™ 4 - + 4433y + 169
74 73 ,
€9, C12 Yyt + 45y + - - - + 403241y + 80089




